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BUSINESS MATHEMATICS AND STATISTICS

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries 1 mark each : 1x8 = 8

Q. No. 2 carries 2 marks each : 2x5= 10

: Q. No. 3 carries 3 marks each £ 3x5 = 15
\ Q. Nos. 4-10 carry 5 marks each : 5x7 = 35
Q. Nos. 11-14 carry 8 marks each - 8x4 = 32

Total = 100
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1. Answer the followi (
owing as directed -
g R FCHIRPTICT T forgy - 1x8=8 (e) All facts expressed are not statistics.
(Fill in the blank)
a2 FReEE B @ o ARPRY =3 |
(4R 212 7= F90)

Resciat - $q. met
e e Te.
(Fill in the blank)

LR =___ »fm)
(f/ What is a blank table?

(<190 512 e <o)
i el 62

(b) 20% profit on SP = o
—— 70 profit on Cp.
dimensional diagram.

(Fill in th
(BT T 87[{® 20% =fre = fayy € blank)
TR % 7ms (g) Bar diagram is a
(el Thewcurved (3197 o2 SRS Z 1)) ' : (Fill in the blank)
ed surf:
ol @Wl;rgce T wefgze __ WaR fod | ,
N )
; by (W1 32, 77 F90)
(i) 2mnrl
(i) 2mrh
h) Write True or False :
(iii) nr2h (h)
J &) (1 TPTSS ol
(iv) mrl
logg a =1
(Choose the correct answer)
er
(9% e
Wﬁﬁ%{%@m) 2. Answer the following questions : 2x5=10
oo 2 e et

(d) y-coordinate of a point on x-axis i
- is

(Fill in th
€ blank) () Simplify :

XY SRS Y B YT |
¥gel ¥4l
(F125)%7°0°

(91 9% =g )
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(5)
(4)
' Solve :
(b) For what value of k, will the point (k, 0) be equidistant &
from the points (@,0) and (-54, 0j? AR S 10
1
X _—
kﬁﬁswm(k,O)ﬁW(a,O)W(—Sa,o)ﬁwﬁwo,zﬂ . i +3x 3
STRRS] 377 2
Or / &3l
(¢) Find the mean Proportion of 50 and 128.

S0 9 1287 Wy SIS Sy |

be placed
Find the length of the longest rod (‘;h:; ;agl ki hfgh.
Spectively. Find jtg curved (c) : oom of 12 ft long, 9 ft broa
surface area, o T5 @3 (1 o SIRCEGEIREEEN
Ph 920 Sl 8 8
., | . 12 5 %A, 9 T
Bl KFT TPT W1 - Fortes ¥ T 70 cm e 35 g W@@QWWT%@W‘
"R T3 Ifet ety 2 | 3
' 2,—3) are
(e P25 tlog, \/‘35 d) Show that the points (-2,5), (0,1) and (
(
—
log, V6 +10g2 ‘/%‘q T ey 0| colline

S |
@& @, (-2, 5) O 1) == (2, _ 3) R20! @

3. Answer the following questions

. 7. If each of
bers is 2:7.
' 3x5=15 .1 between two num ; een the new
O ERPIRY Ty fory; () The raifoincrE:asec1 by 14, the rfmo szltczv the original
themb obtained becomes 4:.7. :
numpers
(@) A retailer geg an article at a profj numbers. -
t . 5 FR AR T
If CP is ?720, find the SP B o 20% on SP. @I B Wqﬂ@ 2:7. ‘gji\!}(‘m SRAE 1O 14 @
. N
AL ﬂﬁlﬁm@mmem QO%WWQW%W,
A Bl 71 720 By EX

(=] - ]
St o S 4 7. T 1 e
N\
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(6 )
(7))

al bowl of radius 9 cm is full of water.

4. .
Answer either (a) or (b) :
S (b) A hemispheric
This water is to be filled in cylindrical bottles of
t 4 cm. Find the number

(@) =T (b) 7 Taq oy
diameter 3 cm and heigh
of bottles required to fill the whole water of the bowl.

e e 7z e | ofE R

(@) A trader
all :
price. Whatozvvz 1;13 Customers 5%, disc
COSting \:_,712.501'1 d be the list Price O?UHt on list
to make a profit of 3310 an article 9 cm PN SLAFTPIE D @Bl
ammﬁ@mmﬁ%w 37 3 cm TP FE 4 cm%smﬁﬁﬁywmﬂmww
g
T 7125 9© 5% =R ficy 1 33 1 o, (oG 7IEd AT 23?
0 51 Rl 2o Bl 3 3 3 7o T
PP —,_isa?
(b) Find the '
6 cost of flooring with o e
¢m, each tile costs & Square tiles of 6. What are the limitations of statistics: 5
floor is 4 m S V25. The dj of side
X3 m and dimension RRICARE RIS Iﬂijéﬁﬁ"’
the cost of material the cost of laboul" iS 7(;1;/the "ﬂ%ﬂ\?m \9 !
; o of
4mx3 m @ 93\ TR 20 Or / 7T
e 1 2ft Bieemea CI. A Jigfeq By
- T 25 51 W i@ L What are the characteristics of statistical data?
@WﬁWWI WW%’WW'?SO/
(o]
Ry SRR eI 1 52
5- AI‘lSW&I' either (a) or (b} .
(@) 1 (B)3 Tav gy 5 . ' _ o _
' 7. Find the ratio in which the line segment joining the points
(@) Two mixt (-4,1) and (3, 5) is divided by y-axis. 5
, ures A and B :
Im the ratio 4:5 and 3<ff;ntam glycerine and wat (=4, 1) = (3, 5) PR (@RS y-=rF Al & waree f{oe =,
itr ‘4 res BF
es of B must be mixed wi pectively. How PR
the r esulting m with 81 litre -
glyceri : Ixture may contain S of A that
ig e €qual quantity of
R 4
¢ B© b
o - quoﬂ%_\ﬂﬂ%m‘}'Sm g. Prove that
E’ltw '%S'm 2 3
AR wgee "R B R T = ol ¥4 A
/447 210g§+log—2~—5+210g2=0
/447 [ Contd.

R




f

(92)

(b) What 1is the difference between primary data and
4

9. IflogXt¥ _1
g = 10
3 2 ( gx +10gy): then show that X y
— 4+ 7
X + '
I logXFY - 1 (lo Yy x 2 secondary data?
3 2 gx +10gy)a ACTECH ey X
A=Y W@%W@WWWWW%?
g 7.
Or / 7T
statistical investigation.

Discuss the different stages of

Or / ai3gr
°WRWWWWWW1

on? Name the four types of
4

volumes.
voI BRrers 9
S 3
)
TS T 4y P TR Tt 2+ 3 | Prioe 12. (@) What is classificati
. TSRO classification.
iaet 7 7 BRRY 25ae AeRo! T |

e importance of diagrams and graphs in
4

(b) Discuss th
business and commerce.

10. Write do
Wn an -
questionnaire Y five essential character ti
: Stics of an i
Q< e | Ideal
2T Gy forey | . TS (A S B e S T
Or / 7533y
Discuss the dj
e different sources of collecti 13. (o) Drew = BisifRw e the following €ata ¢ °
93 = ngs
P8t “Teiar @2 Sraqe g o B o 8 secondary dagy, o AP A TS SR T -
R Seophs Ry e N
s [Glass interval
1 a5 10-15 | 15-20 | 20-25 | 25-30 30-35
. (@ Solve ; i B— 08 |
ST 41 Pregueney s s wap v FEE T S
4 IRASIAND J—J_,_———l’_,__
= ap 1_:£c _13
1-x x & (b) Define frequency density and percentage frequency. 3
44
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(11 )

Or / A&

n? What is the purpose of tabulation
lank table showing

of a
: group of
What is tabulatio

Pl"epar
fl‘equef;; dC;; e:it;h class mterv};d dlzzrﬂ;lgtlon table taking
S1 of ea . Ky
o interval Fipdlso the of statistical data? Prepare a b
the distribution in two industries according to the
: 2+2+4=8

following characteristics :

AR T IR e B2 T

SS T REF @
G
TS RS 107 L{,\:: Fa10) w5 Ty o wie
TR Rrererm | atfSchy
B EEIGE ° <) © q.?r
TR 798 ety 7 ST 29 11 sty 2
3sf <R &
: were Tl oo fofe
PRCRIGIAC S Pl
ey (ﬁ; o) :
(i) Sex (M/F)
42 74 40 60 82 115 4 o (o /4ZM)
61 _ ;
53 110 76 84 50 g7 3 73" ‘g3 63 (i) Marital status (marrled/unmamed)
A 79 54 73 s . 95 et g (Rl SIRSIES
4 76 42 64 69 70 g 100 66 (i) Literate/Iliterate
72 50 fRifEFe SiEaY
79 ©/
* %k

52 103
9% 51 86 78 94 o
90

From the above tab
table, calcul

’ ate the foJp

0]

PR lferplg Wing -
*I{1 o1 MAIRR ey ey - ng : 442+141-g

(@) Percentage
of
80 kg B8 9l.3tdenty whos

80 f.ars G R R pn—

€ Weigh
EOLs are Jegg than

{b} PerCen
tage of student
(76-105) kg S whose weights are p
etween

24C
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